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Homework 5.2

For the exercises 1 — 5, determine whether Rolle’s Theorem can be applied to the function on the
indicated interval. If Rolle’s Theorem can be applied, find all values of ¢ that satisfy the theorem.

1. f(x)=x2 —4x ontheinterval 0 <x <4 2. f(x)=(x+4)%(x—3)on the interval 4 <x <3
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3. f(x)=4—|x—2 on the interval -3 <x <7 4. f(x)=sin x on the interval 0 <x <2z
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For exercises 6 — 9, determine whether the Mean Value Theorem can be applied to the function on the
indicated interval. If the Mean Value Theorem can be applied, find all values of ¢ that satisfy the

theorem.
A =\ ¢

6. f(x)=x3—x2—2x on—-1<x<1
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7. f(x)=vJx-3 on3<x<7
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Using the graph of the function, f{(x), pictured below, and given the intervals in the table below, determine
if Rolle’s or Mean Value Theorem, whichever is indicated, can be applied or not. Give SPECIFIC
reasons for your answers.
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